
Orb Drop II  - Assembly Instructions 
 
Assembly Time 4-6 hours 
 

● Step 1 - Inventory 
o Standard Kit 

▪ Wood Sheets 
● (7)  Sheet 1 - Sheet 7 

▪ Plastic Sheets 
● (3)  Sheet 8 - Sheet 10 

▪ Components 
● (1)  Gear Motor 
● (1)  Battery Holder 
● (1) Rocker Switch 
● (1)  4” Male to Male Wire 
● (6) 1/2” Steel Balls 
● (1) 1/4” #2 Wood Screw 
● (4) 3/8” #4-40 Screws 
● (4) 1” #4-40 Screws 
● (1) 1-1/2” #4-40 Screw 
● (4) 2” #4-40 Screws 
● (1) 12” #6-32 Threaded Rod 
● (15) #4 Washers 
● (15)  #4-40 Lock Nuts 
● (1) #4 Nylon Bushing 
● (10) #6 Washers 
● (8) #6-32 Lock Nut 
● (8) 3/8” ID Fiber Washer 
● (2) #6 Aluminum Bushing 
● (1) Nail File 
● (1) 1/16” Allen Wrench 

o Add-On Kits 
▪ Power Adapter Kit 

● (1) USB 2.0 to DC Power Jack Cable 
● (1) DC Power Jack Adapter Connector 

▪ Leveling Kit 
● (2) RGB LED Strips 
● (2) 12” Male to Male Wires 

▪ LED Light Kit 
● (4) 2-1/4” #4-40 Screws 
● (4) #4-40 Round Nuts 
● (4) Adhesive Rubber Bumpers 
● (1) Round Bubble Level 

 
● Step 2 - Punch Out Sheet Components 

o Wood Sheets 
▪ (7)  Sheet 1 - Sheet 7 

o Plastic Sheets 
▪ (3)  Sheet 8 - Sheet 10 

 
● Step 3 - Organize Components 

o Group into like components 
 
 



Orb Drop II  - Assembly Instructions 
 

● Step 4 - Base 
o (1)  B1 
o (1)  B2 
o (1)  B3 
o (1)  B4 
o (1)  B5 
o (4)  B6 
o (4) 2” #4-40 Screws 
o (4) #4 Washers 
o (4)  #4-40 Lock Nuts 

 
● Step 5 - Motor/Battery 

o (1)  M1 
o (1)  M2 
o (1)  G1 
o (1)  G1 
o (1)  Gear Motor 
o (1)  Battery Holder 
o (1) Rocker Switch 
o (4) 3/8” #4-40 Screws 
o (2) 1” #4-40 Screws 
o (1) 1/4” #2 Wood Screw 
o (6)  #4-40 Lock Nuts 

 
● Step 6 - Camshaft 

o (9)  A0 
o (1)  A1 
o (1)  A10 
o (1)  G2 
o (56) Cam Spacers 
o (2) Large Round Spacers 
o (1) 12” #6-32 Threaded Rod 
o (5) #6 Washers 
o (8) #6-32 Lock Nut 
o (2) #6 Aluminum Bushing 
o (7) 3/8” ID Fiber Washer 

 
● Step 7 - Stair Dividers 

o (1)  A2 
o (1)  A3 
o (1)  A4 
o (1)  A5 
o (1)  A6 
o (1)  A7 
o (1)  A8 
o (1)  A9 

 
 
 
 
 
 



Orb Drop II  - Assembly Instructions 
 

● Step 8 - Track Switch 
o (2)  A20 
o (1)  A20b 
o (1)  A21 
o (1)  A21b 
o (1)  A21c 
o (1)  A21d 
o (6)  Small Round Spacers 
o (1)  #4 Nylon Bushing 
o (1) 1-1/2” #4-40 Screw 
o (2) 1” #4-40 Screws 
o (5) #4 Washers 
o (5)  #4-40 Lock Nuts 

 
● Step 9 - Stairs 

o (2)  A11 
o (2)  A12 
o (2)  A13 
o (2)  A14 
o (2)  A15 
o (2)  A16 
o (2)  A17 
o (2)  A18 
o (2)  A19 
o (9)  A11a 
o (9)  A11b 
o (1) A11c 
o (4)  A2b 
o (1) S8 

 
● Step 10 - Stairs Part 2 

o (2)  A1a 
o (2)  A1b 
o (2)  A1c 

 
● Step 11 - Rail 14 

o (2)  R14 
o (1)  R14b 
o (1)  C13 
o (1) S2 

 
● Step 12 - Rail 13 

o (1) R13a 
o (1) R13b 
o (1) RC 

 
● Step 13 - Rail 19 

o (2) R19 
o (1) RC 
o (1)  S18 

 
 



Orb Drop II  - Assembly Instructions 
 

● Step 14 - Rail 18 
o (2) R18 
o (1) RC 
o (1) RC3 
o (1)  S18 
o (1) S13 

 
● Step 15 - Rail 12 

o (1) R12a 
o (1) R12b 
o (1) RC 
o (1) C12 
o (1) S1 
o (1) S1b 

 
● Step 16 - Rail 11 

o (1) R11a 
o (1) R11b 
o (1) RC 
o (1) C11 
o (1) S4 
o (1) S4b 

 
● Step 17 - Rail 10 

o (1) R10a 
o (1) R10b 
o (1) RC 
o (1) C10 
o (1) S10 

 
● Step 18 - Rail 9 

o (1) R9a 
o (1) R9b 
o (1) RC 
o (1) C9 
o (1) S9 

 
● Step 19 - Rail 8 

o (1) R8a 
o (1) R8b 
o (1) RC 
o (1) C8 

 
● Step 20 - Rail 7 

o (1) R7a 
o (1) R7b 
o (1) RC 
o (1) C7 
o (1) S3 
o (1) S3b 

 
 



Orb Drop II  - Assembly Instructions 
 

● Step 21 - Rail 6 
o (1) R6a 
o (1) R6b 
o (1) RC 
o (1) C6 

 
● Step 22 - Rail 5 

o (1) R5a 
o (1) R5b 
o (1) RC 
o (1) C5 

 
● Step 23 - Rail 4 

o (1) R4a 
o (1) R4b 
o (1) RC 
o (1) C4 

 
● Step 24 - Rail 3 

o (1) R3a 
o (1) R3b 
o (1) RC 
o (1) C3 

 
● Step 25 - Rail 2 

o (1) R2a 
o (1) R2b 
o (1) RC 
o (1) C2 

 
● Step 26 - Rail 1 

o (1) R1a 
o (1) R1b 
o (1) C1 

 
● Step 27 - Rail 17 

o (2) R17 
o (1) RC2 
o (1) S17 

 
● Step 28 - Rail 16 

o (1) R16a 
o (1) R16b 
o (1) RC 
o (1) C16 

 
● Step 29 - Rail 15 

o (1) R15a 
o (1) R15b 
o (1) C15 

 
 



Orb Drop II  - Assembly Instructions 
 

● Power Adapter Kit 
o (1) USB 2.0 to DC Power Jack Cable 
o (1) DC Power Jack Adapter Connector 

 
● Leveling Kit 

o (2) RGB LED Strips 
o (2) 12” Male to Male Wires 

 
● LED Light Kit 

o (4) 2-1/4” #4-40 Screws 
o (4) #4-40 Round Nuts 
o (4) Adhesive Rubber Bumpers 
o (1) Round Bubble Level 

 

 
 


